
List of corrections - September 11, 2024

1. page 202, Exercise 9.6: The function cε in the hint should be replaced by

cε(x) = [1|x|≤ε(x) +
2ε− |x|

ε
1ε<|x|≤2ε(x)]x.

2. page 209, Remark 10.13: The statement given there is correct, but it is also true
that already d-dimensional Brownian motion in law and the Poisson process in law
are Lévy processes in law. The proof is completely the same as the one given in
Remark 10.13, which did not refer to the path properties of Brownian motion or the
Poisson process.

3. page 217, line 16: In the second sum, the uj should be replaced by um, so that∑u
m=k uj there should be replaced by

∑n
m=k um, so that the full display in lines

15-17 reads as

µ̂t(u1, . . . , uj−1, 0, uj+1, . . . , un)

= ϕtj+1−tj−1

(
n∑

m=j+1

um

)
·
∏

k=1,...,n
k ̸=j,j+1

ϕtk−tk−1

(
n∑

m=k

um

)

= µ̂(t1,...,tj−1,tj+1,...,tn)(u1, . . . , uj−1, uj+1, . . . , un).

4. page 225, Theorem 10.41, second line within the statement: L = (Lt)t∈I should be
an Rd-valued additive process in law, i.e. ‘in law’ should be added within the second
line of the statement.

5. page 237, lines 6-8: the jump-size distribution σ should be defined as σ = ξ(νX/λ)
in line 6 (and not as ξ(νX)). In line 8 the second and third λ should be deleted, so
that the equation reads∫

u>1

h(u)λσ(du) =

∫
x∈Rd:|x|>1

h(ξ(x)) νX(dx) =

∫
x∈Rd:|x|>1

g(x) νX(dx).
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